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35. It takes two decorators 8 days to paint a house.
One is lazy and one is energetic.
The energetic one could paint the house in 12 days on his
own.
How many days would it take the lazy one to paint the
house on his own?
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17 (a)

To complete a task in 15 days a company needs

4 people each working for 8 hours per day.

The company decides to have

5 people each working for 6 hours per day.

Assume that each person works at the same rate.

How many days will the task take to complete?
You must show your working.

[3 marks]




19. If Mark can mow the lawn in 40 minutes and Audrey can mow the lawn in 50 minutes, which equa-
tion can be used to determine how long it would take the two of them to mow the lawn together?
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